
 
 
 
 
 
 
 
 
 
 
 
 

WHEEL LOCKS  
ATTENDANT -
PEDAL  
 
 
 
 
 
  PARTS MANUAL  



2730 REV K ɀ 06/0 9/201 5 Page 2 
 

FUTURE MOBILITY HEALTHCARE APPRECIATES YOUR BUSINESS. 
OUR CUSTOMER SERVICE REPRESENTATIVES CAN BE CONTACTED AT: 

 
TO PLACE ORDERS: 

(905) 671-1661 
 

FOR YOUR CONVENIENCE YOU MAY ALSO PLACE ORDERS BY FAX AT: 
 

FAX: (905) 671-3377 
 

PLEASE VISIT OUR WEBSITE AT: 
 

www.futuremobility.ca 
 
 

*Part prices and configurations included in this Parts Manual are subject to 
change without prior notice. 
* All prices are shown as per unit individual price. 
  



2730 REV K ɀ 06/0 9/201 5 Page 3 
 

Contents 
WHEEL LOCKS  ................................ ................................ ................................ .........  5  

STEEL CLAMP-ON WHEEL LOCK PUSH STYLE (DISCONTINUED) ............................. 5 

STEEL CLAMP-ON WHEEL LOCK PULL STYLE (DISCONTINUED) .............................. 7 

ALUMINUM CLAMP -ON WHEEL LOCK PUSH STYLE (DISCONTINUED) .................. 9 

ALUMINUM CLAMP -ON WHEEL LOCK PULL STYLE (DISCONTINUED) ................. 11  

LIGHT PUSH-PULL  TO LOCK CLAMP-ON WHEEL LOCK (NEW)  ............................. 13  

LIGHT PUSH-PULL TO LOCK SPRING CLAMP-ON LOCK (NEW)  .............................. 15  

LIGHT PUSH TO LOCK WHEEL LOCK (NEW) .............................................................. 17  

LIGHT PULL TO LOCK WHEEL LOCK (NEW)  .............................................................. 19  

LIGHT PUSH SPRING RETURN WHEEL LOCK (NEW) ................................................ 21  

LIGHT PULL SPRING RETURN WHEEL LOCK (NEW) ................................................. 23  

LIGHT WHEEL LOCK HANDLE EXTENSION (NEW) ................................................... 25  

STEEL SPRING RETURN WHEEL LOCK PUSH STYLE (DISCONTINUED) ................. 27  

STEEL SPRING RETURN WHEEL LOCK PULL STYLE (DISCONTINUED) .................. 29  

STEEL STANDARD WHEEL LOCK PUSH STYLE (DISCONTINUED) .......................... 31  

STEEL STANDARD WHEEL LOCK PULL STYLE (DISCONTINUED) ........................... 33  

BERNER WHEEL LOCK SYSTEM  ................................ ................................ ...........  35  

BERNER WHEEL LOCK PUSH STYLE ð CLAMP ON .................................................... 35  

BERNER WHEEL LOCK PULL STYLE ð CLAMP ON ..................................................... 37  

BERNER WHEEL LOCK PUSH STYLE ð ORION II  ........................................................ 39  

BERNER WHEEL LOCK PULL STYLE ð ORION II  ......................................................... 41  

BERNER WHEEL LOCK PUSH UNILATERAL ð CLAMP ON ....................................... 43  

BERNER WHEEL LOCK PULL UNILATERAL ð CLAMP ON ........................................ 45  

BERNER WHEEL LOCK PUSH UNILATERAL ð ORION II  ........................................... 47  

BERNER WHEEL LOCK PULL UNILATERAL ð ORION II  ............................................ 49  

ATTENDANT PEDAL  ................................ ................................ .............................  51  

ATTENDANT PEDAL WHEEL LOCK CAPELLA/ CAPELLA 45 .................................. 51  

ATTENDANT PEDAL WHEEL LOCK ð ORION II  ......................................................... 53  

ATTENDANT PEDAL TILT ð CAPELLA/ CAPELLA 45................................................. 55  

ATTENDANT PEDAL TILT ð ORION II  ........................................................................... 57  

 
 
  



2730 REV K ɀ 06/0 9/201 5 Page 4 
 

  



2730 REV K ɀ 06/0 9/201 5 Page 5 
 

WHEEL LOCKS  

STEEL CLAMP-ON WHEEL LOCK PUSH STYLE (DISCONTINUED) 
 
 

 
 



 
 

STEEL CLAMP-ON WHEEL LOCK PUSH STYLE TABLE 
 

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 3 1000027 WASHER FLAT 1/4"  ID .257 OD 0.50 THK $1.50

2 2 1000035 SPACER, NYLON  OD .50 ID .257  THK .359 $2.00

3 2 1000397 NUT, HEX-NYLOCK THIN, 1/4-20NC $2.00

4 2 1000416 SCREW SOCKET HEAD BUTTON, 1/4-20 X 1.25 $3.00

5 1 1001381 SOC HD SCREW 1/4-20 X 1.00 $3.00

6 2 1001469 SOC HD CAP 1/4-20  X 1.0 BLK $3.00

7 1 1004097 ROUND GRIP 4" LONG $2.75

8 2 1004852 WASHER FLAT 1/4" ID .252 OD .375 THK .03 $1.50

9 1 1005342 WHEEL LOCK DUAL TUBE CLAMP, LOWER $33.00

10 1 1013154 STEEL EXTENSION  HANDLE WELDMNT $48.00

11 1 1013560 WHEEL LOCK MOUNT SLIDE - SLOTTED $24.00

12 1 1017108 WHEEL LOCK DUAL TUBE CLAMP, UPPER $39.00

13 1 1021867 STEEL KNURLED BRAKE SHOE $12.00

14 1 1025527 PUSH TO LOCK LINKS WITH RIVOT, LT $82.00

1 1025529 PUSH TO LOCK LINKS WITH RIVOT, RT $82.00

1 1019367 KIT, COMPLETE STEEL CLAMP ON LOCK PUSH, LT (ITEMS 1-14)$244.00

1 1019368 KIT, COMPLETE STEEL CLAMP ON LOCK PUSH, RT (ITEMS 1-14)$244.00  
 

NOTES:   
 



2730 REV K ɀ 06/0 9/201 5 Page 7 
 

STEEL CLAMP-ON WHEEL LOCK PULL STYLE (DISCONTINUED) 
 
 
 

 
  



2730 REV K ɀ 06/0 9/201 5 Page 8 
 

STEEL CLAMP-ON WHEEL LOCK PULL STYLE TABLE 
 

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 3 1000027 WASHER FLAT 1/4"  ID .257 OD 0.50 THK $1.50

2 2 1000035 SPACER, NYLON  OD .50 ID .257  THK .359 $2.00

3 2 1000397 NUT, HEX-NYLOCK THIN, 1/4-20NC $2.00

4 2 1000416 SCREW SOCKET HEAD BUTTON, 1/4-20 X 1.25 $3.00

5 1 1001381 SOC HD SCREW 1/4-20 X 1.00 $3.00

6 2 1001469 SOC HD CAP 1/4-20  X 1.0 BLK $3.00

7 1 1004097 ROUND GRIP 4" LONG $2.75

8 2 1004852 WASHER FLAT 1/4" ID .252 OD .375 THK .03 $1.50

9 1 1005342 WHEEL LOCK DUAL TUBE CLAMP, LOWER $33.00

10 1 1013154 STEEL EXTENSION  HANDLE WELDMNT $48.00

11 1 1013560 WHEEL LOCK MOUNT SLIDE - SLOTTED $24.00

12 1 1017108 WHEEL LOCK DUAL TUBE CLAMP, UPPER $39.00

13 1 1021867 STEEL KNURLED BRAKE SHOE $12.00

14 1 1025526 PULL TO LOCK LINKS WITH RIVOT, LT $82.00

1 1025528 PULL TO LOCK LINKS WITH RIVOT, RT $82.00

1 1019370 KIT, COMPLETE STEEL CLAMP ON LOCK PULL, LT (ITEMS 1-14)$244.00

1 1019371 KIT, COMPLETE STEEL CLAMP ON LOCK PULL, RT (ITEMS 1-14)$244.00  
 
NOTES:   
 
  



2730 REV K ɀ 06/0 9/201 5 Page 9 
 

ALUMINUM CLAMP -ON WHEEL LOCK PUSH STYLE (DISCONTINUED) 
 

 
  



2730 REV K ɀ 06/0 9/201 5 Page 10 
 

ALUMINUM CLAMP-ON WHEEL LOCK PUSH STYLE TABLE 
 

 
 

NOTES: 
  

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 7 1000027 WASHER .257 X .50 X .032 $1.50

2 4 1000397 NUT, HEX-NYLOCK THIN, 1/4-20NC $2.00

3 2 1000412 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 5/8 $3.00

4 3 1001381 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 1 $3.00

5 2 1001469 SCREW, SOCKET HEAD CAP, 1/4-20NC X  1 $3.00

6 1 1004097 ROUND GRIP 4" LONG $2.75

7 2 1004852 WASHER FLAT 1/4" ID .252 OD .375 THK .03 $1.50

8 1 1005333 WHEEL LOCK COUNTER LINK, PUSH $12.00

9 1 1005334 WHEEL LOCK HOLDING LINK $21.00

10 1 1005335 WHEEL LOCK MOUNT SLIDE $24.00

11 1 1005337 STAR STYLE BRAKE SHOE $12.00

12 2 1005339 SPACER, NYLON 1/4, OD .50, ID .257, THK .187 $2.00

13 1 1005342 WHEEL LOCK DUAL TUBE CLAMP, LOWER $33.00

14 1 1013150 PUSH TO LOCK HANDLE WELDMENT LT $37.00

1 1013151 PUSH TO LOCK HANDLE WELDMENT RT $37.00

15 1 1013154 STEEL EXTENSION  HANDLE WELDMNT $48.00

16 4 1015321 SLEEVE BUSHING $3.00

17 1 1017108 WHEEL LOCK DUAL TUBE CLAMP, UPPER $39.00

1 1013145 KIT, ALUMINUM CLAMP-ON WHEEL LOCK PUSH LT (ITEMS 1-17)$185.00

1 1013146 KIT, ALUMINUM CLAMP-ON WHEEL LOCK PUSH RT (ITEMS 1-17)$185.00



2730 REV K ɀ 06/0 9/201 5 Page 11 
 

ALUMINUM CLAMP -ON WHEEL LOCK PULL STYLE (DISCONTINUED) 
 

 
  



2730 REV K ɀ 06/0 9/201 5 Page 12 
 

ALUMINUM CLAMP-ON WHEEL LOCK PULL STYLE TABLE 
 

 
 
NOTES: 
  

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 7 1000027 WASHER .257 X .50 X .032 $1.50

2 4 1000397 NUT, HEX-NYLOCK THIN, 1/4-20NC $2.00

3 2 1000412 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 5/8 $3.00

4 3 1001381 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 1 $3.00

5 2 1001469 SCREW, SOCKET HEAD CAP, 1/4-20NC X  1 $3.00

6 1 1004097 ROUND GRIP 4" LONG $2.75

7 2 1004852 WASHER FLAT 1/4" ID .252 OD .375 THK .03 $1.50

8 1 1005334 WHEEL LOCK HOLDING LINK $21.00

9 1 1005335 WHEEL LOCK MOUNT SLIDE $24.00

10 1 1005337 STAR STYLE BRAKE SHOE $12.00

11 2 1005339 SPACER, NYLON 1/4, OD .50, ID .257, THK .187 $2.00

12 1 1005342 WHEEL LOCK DUAL TUBE CLAMP, LOWER $33.00

13 1 1007260 WHEEL LOCK COUNTER LINK, PULL $12.00

14 1 1013150 PUSH/ PULL TO LOCK HANDLE WELDMENT LT $37.00

1 1013151 PUSH/ PULL TO LOCK HANDLE WELDMENT RT $37.00

15 1 1013154 STEEL EXTENSION  HANDLE WELDMNT $48.00

16 4 1015321 SLEEVE BUSHING $3.00

17 1 1017108 WHEEL LOCK DUAL TUBE CLAMP, UPPER $39.00

1 1013147 KIT, ALUMINUM CLAMP-ON WHEEL LOCK PULL LT (ITEMS 1-17)$185.00

1 1013148 KIT, ALUMINUM CLAMP-ON WHEEL LOCK PULL RT (ITEMS 1-17)$185.00



2730 REV K ɀ 06/0 9/201 5 Page 13 
 

LIGHT PUSH-PULL  TO LOCK CLAMP-ON WHEEL LOCK (NEW) 
 
 
 
 

 
  



2730 REV K ɀ 06/0 9/201 5 Page 14 
 

LIGHT PUSH-PULL TO LOCK CLAMP-ON WHEEL LOCK  TABLE 
 

 
 
NOTES: 
 
  

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 1 1000027 WASHER .260 ID .500 OD .031 THK $1.50

2 2 1001381 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 1 $3.00

3 1 1001391 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 3/4 $3.00

4 2 1001469 SCREW, SOCKET HEAD CAP, 1/4-20NC X  1 $3.00

5 2 1001531 NUT, HEX-NYLOCK THIN, 1/4-28 $2.00

6 2 1001757 NYLON WASHER ID .252, OD .500, THK .060 $1.50

7 2 1004852 WASHER FLAT 1/4" ID .252 OD .375 THK .03 $1.50

8 1 1005342 WHEEL LOCK DUAL TUBE CLAMP, LOWER $33.00

9 1 1017108 WHEEL LOCK DUAL TUBE CLAMP, UPPER $39.00

10 1 1021867 STEEL KNURLED BRAKE SHOE $12.00

11 1 1021878 LIGHT WHEEL LOCK MOUNT SLIDE $14.00

12 1 1021884 RECTANGULAR ROUND END CAP $3.50

13 1 1029733  WHEEL LOCK PUSH LINKS  RT $36.00

1 1029734  WHEEL LOCK PUSH LINKS  LT $36.00

1 1029735  WHEEL LOCK PUSH LINKS  RT (STEEL) $36.00

1 1029736  WHEEL LOCK PUSH LINKS  RT (STEEL) $36.00

1 1029741 WHEEL LOCK PULL LINKS RIV. RT $36.00

1 1029742 WHEEL LOCK PULL LINKS RIV. LT $36.00

1 1029743 WHEEL LOCK PULL LINKS RIV. RT (STEEL) $36.00

1 1029744 WHEEL LOCK PULL LINKS RIV. RT (STEEL) $36.00

1 1029762 KIT LIGHT  CLAMP PUSH  TO LOCK, RT $132.00

1 1029763 KIT LIGHT  CLAMP PUSH  TO LOCK, LT $132.00

1 1029764 KIT LIGHT  CLAMP PUSH  TO LOCK, RT (STEEL) $132.00

1 1029765 KIT LIGHT  CLAMP PUSH  TO LOCK, LT (STEEL) $132.00

1 1029766 KIT LIGHT  CLAMP PULL  TO LOCK, RT $132.00

1 1029767 KIT LIGHT  CLAMP PULL  TO LOCK, LT $132.00

1 1029768 KIT LIGHT  CLAMP PULL  TO LOCK, RT (STEEL) $132.00

1 1029769 KIT LIGHT  CLAMP PULL  TO LOCK, LT (STEEL) $132.00



2730 REV K ɀ 06/0 9/201 5 Page 15 
 

LIGHT PUSH-PULL TO LOCK SPRING CLAMP-ON LOCK (NEW) 

 
 

 
  



2730 REV K ɀ 06/0 9/201 5 Page 16 
 

LIGHT PUSH-PULL TO LOCK SPRING  CLAMP-ON LOCK  TABLE 
 

 
 
NOTES: 
 
  

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 1 1000027 WASHER .260 ID .500 OD .031 THK $1.50

2 2 1001381 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 1 $3.00

3 1 1001391 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 3/4 $3.00

4 2 1001469 SCREW, SOCKET HEAD CAP, 1/4-20NC X  1 $3.00

5 2 1001531 NUT, HEX-NYLOCK THIN, 1/4-28 $2.00

6 2 1001757 NYLON WASHER ID .252, OD .500, THK .060 $1.50

7 2 1004852 WASHER FLAT 1/4" ID .252 OD .375 THK .03 $1.50

8 1 1005342 WHEEL LOCK DUAL TUBE CLAMP, LOWER $33.00

9 1 1017108 WHEEL LOCK DUAL TUBE CLAMP, UPPER $39.00

10 1 1021867 STEEL KNURLED BRAKE SHOE $12.00

11 1 1021878 LIGHT WHEEL LOCK MOUNT SLIDE $14.00

12 1 1021884 RECTANGULAR ROUND END CAP $3.50

13 1 1029675 SPRING WHEEL LOCK PUSH LINKS  RT $48.00

1 1029676 SPRING WHEEL LOCK PUSH LINKS  LT $48.00

1 1029747 SPRING WHEEL LOCK PUSH LINKS  RT (STEEL) $48.00

1 1029748 SPRING WHEEL LOCK PUSH LINKS  LT (STEEL) $48.00

1 1029683 SPRING WHEEL LOCK PULL LINKS RIV. RT $48.00

1 1029684 SPRING WHEEL LOCK PULL LINKS RIV. LT $48.00

1 1029745 SPRING WHEEL LOCK PULL LINKS RIV. RT (STEEL) $48.00

1 1029746 SPRING WHEEL LOCK PULL LINKS RIV. LT (STEEL) $48.00

14 1 1029678 TORSION SPRING FORMED RT $6.00

1 1029679 TORSION SPRING FORMED LT $6.00

1 1029771 KIT LIGHT  CLAMP SPRING PUSH  TO LOCK, RT $152.00

1 1029772 KIT LIGHT  CLAMP SPRING PUSH  TO LOCK, LT $152.00

1 1029773 KIT LIGHT  CLAMP SPRING PUSH  TO LOCK, RT (STEEL) $152.00

1 1029774 KIT LIGHT  CLAMP SPRING PUSH  TO LOCK, LT (STEEL) $152.00

1 1029775 KIT LIGHT  CLAMP SPRING PULL  TO LOCK, RT $152.00

1 1029776 KIT LIGHT  CLAMP SPRING PULL  TO LOCK, LT $152.00

1 1029777 KIT LIGHT  CLAMP SPRING PULL  TO LOCK, RT (STEEL) $152.00

1 1029778 KIT LIGHT  CLAMP SPRING PULL  TO LOCK, LT (STEEL) $152.00



2730 REV K ɀ 06/0 9/201 5 Page 17 
 

LIGHT PUSH TO LOCK WHEEL LOCK (NEW) 

 
 
 

 
 
 
  



2730 REV K ɀ 06/0 9/201 5 Page 18 
 

LIGHT PUSH TO LOCK WHEEL LOCK  TABLE 
 

 
 
NOTES: 

A- TO BE USED TOGETHER IF REQUIRED TO EXTEND WHEEL LOCK OUTWARDS 
ς 2 OF EACH TO BE ORDERED 

 
 
 
  

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 2 1000025 SCREW, SOC HD CAP, 1/4-20 X 0.75 $3.00

2 1 1000027 WASHER .260 ID .500 OD .031 THK $1.50

3 2 1000397 NUT, HEX-NYLOCK THIN, 1/4-20NC $2.00

4 2 1001381 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 1 $3.00

5 1 1001391 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 3/4 $3.00

6 2 1001757 NYLON WASHER ID .252, OD .500, THK .060 $1.50

7 1 1021867 STEEL KNURLED BRAKE SHOE $12.00

8 1 1021884 RECTANGULAR ROUND END CAP $3.50

9 1 1025052 WHEEL LOCK MID BRACKET $39.00

10 1 1025053 WHEEL LOCK MID BRACKET PLATE $7.00

11 1 1029733  WHEEL LOCK PUSH LINKS  RT $36.00

1 1029734  WHEEL LOCK PUSH LINKS  LT $36.00

1 1029735  WHEEL LOCK PUSH LINKS  RT (STEEL) $36.00

1 1029736  WHEEL LOCK PUSH LINKS  RT (STEEL) $36.00

2 A 1025080 SPACER CYLINDER $7.00

2 A 1001758 SCREW, SOCKET HEAD CAP, 1/4-20NC X  1 1/2 $3.00

1 1029729 KIT - LIGHT  PUSH  TO LOCK ASS'Y, RT $98.00

1 1029730 KIT - LIGHT  PUSH  TO LOCK ASS'Y, LT $98.00

1 1029731 KIT - LIGHT  PUSH  TO LOCK ASS'Y, RT (STEEL) $98.00

1 1029732 KIT - LIGHT  PUSH  TO LOCK ASS'Y, LT (STEEL) $98.00



2730 REV K ɀ 06/0 9/201 5 Page 19 
 

LIGHT PULL TO LOCK WHEEL LOCK (NEW) 

 

 
 
 
 
 
  



2730 REV K ɀ 06/0 9/201 5 Page 20 
 

LIGHT PULL TO LOCK WHEEL LOCK  TABLE 
 

 
 
NOTES: 

A- TO BE USED TOGETHER IF REQUIRED TO EXTEND WHEEL LOCK OUTWARDS 
ς 2 OF EACH TO BE ORDERED 

 
  

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 2 1000025 SCREW, SOC HD CAP, 1/4-20 X 0.75 $3.00

2 1 1000027 WASHER .260 ID .500 OD .031 THK $1.50

3 2 1000397 NUT, HEX-NYLOCK THIN, 1/4-20NC $2.00

4 2 1001381 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 1 $3.00

5 1 1001391 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 3/4 $3.00

6 2 1001757 NYLON WASHER ID .252, OD .500, THK .060 $1.50

7 1 1021867 STEEL KNURLED BRAKE SHOE $12.00

8 1 1021884 RECTANGULAR ROUND END CAP $3.50

9 1 1025052 WHEEL LOCK MID BRACKET $39.00

10 1 1025053 WHEEL LOCK MID BRACKET PLATE $7.00

11 1 1029741 WHEEL LOCK PULL LINKS RIV. RT $36.00

1 1029742 WHEEL LOCK PULL LINKS RIV. LT $36.00

1 1029743 WHEEL LOCK PULL LINKS RIV. RT (STEEL) $36.00

1 1029744 WHEEL LOCK PULL LINKS RIV. RT (STEEL) $36.00

2 A 1025080 SPACER CYLINDER $7.00

2 A 1001758 SCREW, SOCKET HEAD CAP, 1/4-20NC X  1 1/2 $3.00

1 1029737 KIT - LIGHT  PULL  TO LOCK ASS'Y, RT $98.00

1 1029738 KIT - LIGHT  PULL  TO LOCK ASS'Y, LT $98.00

1 1029739 KIT - LIGHT  PULL  TO LOCK ASS'Y, RT (STEEL) $98.00

1 1029740 KIT - LIGHT  PULL  TO LOCK ASS'Y, LT (STEEL) $98.00



2730 REV K ɀ 06/0 9/201 5 Page 21 
 

LIGHT PUSH SPRING RETURN WHEEL LOCK (NEW) 

 
 
 

 
  



2730 REV K ɀ 06/0 9/201 5 Page 22 
 

LIGHT PUSH SPRING RETIRN WHEEL LOCK  TABLE 
 

 
 
NOTES: 

A- TO BE USED TOGETHER IF REQUIRED TO EXTEND WHEEL LOCK OUTWARDS 
ς 2 OF EACH TO BE ORDERED 

 
  

ITEM QTY NOTESPART NO. DESCRIPTION PRICE/ UNIT
1 2 1000025 SCREW, SOC HD CAP, 1/4-20 X 0.75 $3.00

2 1 1000027 WASHER .260 ID .500 OD .031 THK $1.50

3 2 1000397 NUT, HEX-NYLOCK THIN, 1/4-20NC $2.00

4 2 1001381 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 1 $3.00

5 1 1001391 SCREW, SOCKET HEAD BUTTON, 1/4-20NC X 3/4 $3.00

6 2 1001757 NYLON WASHER ID .252, OD .500, THK .060 $1.50

7 1 1021867 STEEL KNURLED BRAKE SHOE $12.00

8 1 1021884 RECTANGULAR ROUND END CAP $3.50

9 1 1025052 WHEEL LOCK MID BRACKET $39.00

10 1 1025053 WHEEL LOCK MID BRACKET PLATE $7.00

11 1 1029675 SPRING WHEEL LOCK PUSH LINKS  RT $48.00

1 1029676 SPRING WHEEL LOCK PUSH LINKS  LT $48.00

1 1029747 SPRING WHEEL LOCK PUSH LINKS  RT (STEEL) $48.00

1 1029748 SPRING WHEEL LOCK PUSH LINKS  LT (STEEL) $48.00

12 1 1029678 TORSION SPRING FORMED RT $6.00

1 1029679 TORSION SPRING FORMED LT $6.00

2 A 1025080 SPACER CYLINDER $7.00

2 A 1001758 SCREW, SOCKET HEAD CAP, 1/4-20NC X  1 1/2 $3.00

1 1029672 KIT - LIGHT  SPRING RETURN PUSH  TO LOCK ASS'Y, RT $116.00

1 1029673 KIT - LIGHT  SPRING RETURN PUSH  TO LOCK ASS'Y, LT $116.00

1 1029685 KIT - LIGHT  SPRING RETURN PUSH  TO LOCK ASS'Y, RT (STEEL)$116.00

1 1029686 KIT - LIGHT  SPRING RETURN PUSH  TO LOCK ASS'Y, LT (STEEL)$116.00



2730 REV K ɀ 06/0 9/201 5 Page 23 
 

LIGHT PULL SPRING RETURN WHEEL LOCK (NEW) 

 

 
 
  






































































